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@ 0<cosx<1

@ -1<tanx<0

@ 0<sinx<1

® -l1<sinx<1

@ 0<tanx<1



sin 30 °
cos30°
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sin 90 °
X tan 60 ° +

@ V3 ® 2

sin 30 ° X cos 60 °
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O] #E H 1 ginx = 0.6691 & o], x 9] g7

@® 39°

2t | ARRl(sin) | 2 AFRl(cos) | EtMIE (tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0,7431 0.9004
@ 40° ® 41° @ 42° ® 45°
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7. o= AR g Sl T 2 A2

@ sin0° @ cos30° ® cos45°

@ sin 30° ® tan45°
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® tany

@ tanx

@ COS X

@ sinx



12, 0°<x<45° ¢, /(1-tanx)? o] 3t2?

@D 1-tanx @ tanx+1 @ tanx -1
@ 1 ® 0
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Zte sin cos tan
44 0.6947 0.7193 0.9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1,0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355



15. oL = tanA = %01 o, sin A —cos A O] ZF-22(H, 0° < A < 90°)
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16. the 2™eA /ABC = 90°, ZCAB = 60° °], AC = CD

o, tan 15° 9] 27
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@ sind5° ® cos0° © cos35°

@ sin75° ® tan5’0° ® tan65°
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18. tan(x+15°) =1 & o, sinx + cosx & F=7 (H, 0° < x < 90°)
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19. e B2 o]l
(tan 44° + cos 46 ° — 2sin 45 °) x 10000 2] 4f= oto=t,

Zte sin cos tan

44° 0.6947 0.7193 0.9657
45° 0,7071 0,7071 1,0000
46° 0,7193 0,6947 1,0355

@© 246 @ 967 ® 1760 @ 2462 ® 3240
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Zte sin cos tan
10° 0.1736 0,9848 0.1763
20° 0.3420 0,9397 0,3640
35° 0,5736 0,8192 0,7002
45° 0.7071 0.7071 1,0000
50° 0.7660 0.6428 1,1918
70° 0.9397 0.3420 2.7475
89° 0,9998 0.0175 57,2900

sinx = 0.9397

tany = 0.7002

cosz = 0.9848

@ 3 @5 ® 6 @ 10 ® 12
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O] Al fizte] =7]e] vl7F 1 : 2: 3 o]al, Al Zt & 71 22
718 /A 2 & 0, sin A : cosA : tan A=?
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0.77

0.70
0.57

o Zol7t 1 2 AHEA T}
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® sin(x+y) =0.77
® cosy = 0.82

® tany = 0.70

0,40 0,82 1 z

@ siny = 0.82

@ cos(x+y) =0.40



25. y = —2cos?x +4cosx + 5 7F HAFE 7HE o, x 9] FH2(H,
0°<x<90°)

@® 0° @ 30° @ 45° @ 60° ® 90°



